SDH2FE AHERINR
EifzymE S EMES [ELIENESS 15 HE 5 HE
402231 e ] Wk T STERKXINEE 1,392,000 2P HHOEPAEN AT 1
EPHRIKES
REHKXEERE 1,392,000 TEEEE KFsE3T. ) i 13,431
EREFSKREHAO (R31IBRA) 59,645 A\ R 3,747 HEAS 7 0
BESEYIKIER =
(DBBKICHNDED) ’ |EE§E‘
RTEHIKAD . -
S G (5BEKCHDBED) 0 SERSR A 2
R =) 53 =
= 8 1B BEiAEaER 0 BREE B i I
09 377,097 BEHRAD 0 Sl i 0
5 - KBS MEEmEAER BRE - BE -
o 2,331,766 s Nkl 0 SEHSH A 0
BEINIL | 131 A 0 e T 1
B! - S BEKHESR ARG EE NEREB —
s Z0tt G 0 DR R 0 SEBEY | A 2
sEE AT I t 488,678 mERAD 0 e T 1
i IERES MBS &R —
<ot 0 (SBEKEHNBED) 0 SERSH A 6
e P F 307 J=X2Z5+ - JSYRMEAD 0 BT T 0
BT |Ispnmpe P 7 307 SHHILESCBEAD e I Ll sEEASN | A 0
= ’ hBIAS I iR
=EER (FHEF) 3,072 ~ HEIAY TR e 1 B (20 2
BB - =V
MBIER (HErR) 15,610 S — BRSNS | BT 0.0 SIRHEN A 0
nEAD 203 |ME |, e B 0 B e 0
UIR ey : AR B
FEEEl) FEINES 4,854 ° — BB FFHASIINESR | BT 0.0 BIREN A 0
Sr=al
Gl WIEAD 50,709 s s | DEAIER |@Em 0 ] A T 0
CH = FFEKIF
FEMINES 20,277 =i —BiSBIBMAS IR | BT 0.0 BIEREHN A 0
HENE 0 = - BIAY 7 hEER EBEPTEL 0 EBEETEL T 1
mSkE %é\fﬂ gaas - T
—SBHESE 0 8% —EPEISHAS TINESS | &P 0.0 SEREH A 1
EKEF |#6kAD — — — -
BRIk HEINE 0 SEEA EIENAVAiEE BT 0 Rt H— ETZiE 13 F 0
H 4D EEEN — -
L T 0 TR | —uses e | 0.0 BEOR e i 0
RIEHEKAD 51,634 ISENSR | B IIhEER El3E 0 BROR BIEBEN A 0
1REENER
S BRI ER 11,645,000 SEMER | hEIR IR BT 0 BT fa T 40
TR ERHER
REHKRI TS 9,988,000 $HMEE | ThEIA IINEER e 0 IEETE ot 3,535
R o FE BE ST HES s H ;
SHEAERAMBIZE | 5 1 CoEE |CotE BTN IINE BT 0 P— T (i) m 1,078,710
TKEFE | NHTKBE IRTEARIMBIS 1 2 GEEE | of 164,526
NEHE
HEMEX S 11,645,000 Tith (iFE) i 58,063
TmaiE
BEMEKSER 9,876,000 2 (B | of 1,067
BEMERIEAAD 51,055 THIRRES Tih (eFE) nt 0
&
REEKHERREHAD 47,497 ZDMOEE Tt (iR nt 0




